TS o wRl Nl wma A WA W WMWY u'““uu‘u uu'u

<

o {MZL Qs b s C

QL Cs(3r8) = GottCoso—50t5er s

f//’””‘ s Ix = / —Rsia

oV
v
BN

N

=2 (s o & Cos (o r o) :@s)ffosr?s/@xjak
* (5SS 9 —-Sintx |
2 =S Yo S0
2 L =D Sty Rt

o e

}/\fﬂ&!
i -~
- /20”4 S6 3% = 2S5ax -455°x
5,/'; Zx - S:,,(;Zz 7‘)’)
= $o0 dalos X » (os> S0 x
{Z S )((051%5 o —7:—(-/—5,‘,, "X)S:))))

o LSirn (o8 + Sinx — 25,5

¢

oZ Sax (”5”"*19 +Son ¥ — ZSty
ISin o DSiot +Simr — 25,70
35/’43( "4.5/);32/ RHS



JUBULUUUUU VDD DO UOUT DN

v @}Z S/ @’osﬁ %/057)7)2*@;; 4#5'48)2= 2+ 265(# - B)
(o5 A + U3 Blos B o5 Br S5 ISk 75078

I+ 1 + Qes 4cos R + RSBS00 /8
2 *,2((O>4(osﬁf5’4/?5/n/3)

2 +2 Cos(B-B) R#S

@5 (i) =
Ty N e 2eese
\ve Cos & = I
\7@' i) 7(54»9) Sy somo
Ve Afs508)+ 2 (r0050)
> 105HE r L0CssS @D

(1) frea = £ x w = f S A&

o (/0(0:&)({ 5:08)

5 [2(05(9‘5 ’7@7
5 [57E+8) = Sa-8)]
S/// 2&] - S/AO

y N oowor oy

6‘5//1261 = 2
S Siq 20>
= f=5



-—— | ey e -—w | ey = L L) | — e -my -— ws —-— — - .y |

O () £ (os(Pt3) = Cos BcosB =S So iR
Secds 1 (’"B) /gf B. |

(o5(EB) = CoshCosCB)—Sir p SeA-B)
(os(A-B) = (oshosB + SamSak

() prowe SHAR+B) = SHposB fCosASHf

bte  Los(B-B) = Cos #osE » SnBSnE
Suts /&/'/7 (7&’”) /O’ #.

.

(es é&—/?)’@) = Los <?0~)4)(055 # S (90—”) 5/4f' 7

Cos 70—[;”@)] = S A (o5B + CosHSHR

D Sz /4+/3) = S Ko tCos B S

@ED
@S () &os St \J 2578 < 66sC -2 = o5 B
V2 (1-Cos*C) +bles B -2
J V2 = 25" +66050 2
V4 oso = Kloss RS

J

|



L T TR T VI TV I VT I T T R T A VR VI T VI T VR T

J (05 (i)
a Smmjx + (@52:(—5 =0
a{— 2 = 0O 7 7
a Sm ) + (os o) 4 = o
a Sin"o + ClosO — & =
a (@ + (1) -b=0
[ = b]
a/é > = 40
& a Sn*2bo) + Los Abo) - b =0

buf‘—ij_:/

.

G

a S*120 + CoslI20 -b =O

60 e Sia 80 + —Cosho —4 =0
a A3\ — L 4 =
"= 4

‘) 4 o4+
a<%> -~k =l =0

aé/) -3 =0
aly) = 2/
B = Z% x %4



< @b | .
@6 o Rk
3 2 |
Soa& S22
& RN < - 53; 4

o

 Sa - = (5n28)
S5 8 = 2 (2508Cs8)

I _ 2z
2 S los & %

|
.770?&/3

s
3

o o

o, EB5E
g
Qs_l/?/f) =&
hrody =
JLHCB) = /50 — > —26

= /80 —H/ly - T
> 55.8°

//43/ 24 as %/é R w5 %f///)%;z,//é 5.
= Sd[#48) . et Ok
Aerce /f{@ /P 2



I B I VI VI IRV I VI VI IV VY A VA VI VI VI VR Y VI 1

< (QF

s

(77

(1)

$7 35 =/

> 20 - s,
2 &

S g &8 (/o5 20)
Cos 28 (1= Cos 485 ;

_5’mm9[/ - (/-25,-,,@2)
CosRe (1 - Q-Z S/;.‘Z@]

Sin4& (25,*8)
(_OS 2@'(25/412[9‘

) 5/04?@—(/0&2@/ %S/r) 2@

(o32@ X Sia*R3

St‘n l@"
2. S/'r)"-&
Sin @

R Six Cos s

- la: &



THMHHOTOBUUOTUHTAOHOHOAOODAOUYHNy

C

€

128

L

@ (b Area = Z o Simc
20)0) 5 46 = 4 6)E) Sin 20
Sin 468 = S, 2G
L S 2B (o8 A = Sin 28
L sl = T2
L CosRE =/
(s A = 2
LG = Cos"('/z)
18 = 6o’
& = 30°
(i)

(AB] "+ |[DE)= 24

’HB)L‘ 25+~ 2 xoe 4554&
[DE|™ = 2™ +0c™ = 23 x Cos 23

e = Doy M (os 4 (o) + 2T+t~ Qx5 2Ge) =

Gotw = Roctlos Ro — Rse™ (os 60 = =24

g Zoe- = 2oeg” éA) - 2;;/ </) =24

L™

znc - A4
- 6
T

4



rauununninuugunuguouuguoguuiuuin

() drew = 7 5
WD)
4G

2 abh Sial
/2. (2) (2) Sin 269
o L Sin 2(9’

() Qreq

W

¥

25/'/) 2(9’ = % (4((9—)
= 2514269' —_3(9“

25/’4 Z@ = ‘/E
Sin 20 = V34
A8 # Sin ~/€EA)
L5 = '-"/3
&=



WO OB NN M M

le

Z
<4 77 - ‘\Sjlhﬁoc +920<
2

7 Shaded = Qrea Seclor —~Qrea /[

!

= ﬁ' rlzo( e r*Sm 2.

: 5 2 s L ,,7-[2.< - Sin 2
& © o\ 7 I
j50 ~(go-«) 190 -£) = 2o< |

Clres 44BC = 50650 C
= 4 Zﬁr)(lﬁ[OS’C)gﬂ‘\
= 9 rrlosot SinX
= r* 2 Cosx< SinX
= T Sin é‘ "“’C) - S,‘,\o(oc—&)

= r Sin 20(
Aren Som; Corcle ‘5’ P = f r
3@»41-—-
/G%)f - PSS 2 v £t (2‘”5“ 2<) “’“A"SW
4},// - j/'ﬂZoC + & '—'2//5//\ 20( (/\/Z)
L - LSinlde + Lol =Sin2g

a£D



